WSMERST
Tk i
E H } E H
rr%/l c L =Nl o
) Oy < —©
D D
A A
—1 r 1 1 i r LI i
} _ ‘ [ T 1
i | o IS
i) 5
AR
Ae A B € D ©E (%) F © G H@® [
APC10080 80 30 15 20.5-39.5 M10X1.5 8-32 80 M10X1.5 39
APC12100 100 40 20 28 -54 MI12x1.75. 10-40 100 MI12X1.75 49
APC14100 100 40 20 28 -54 M12x1.75 10-38 100 MI12X1.75 49
APC16125 125 50 25 35 62 MI16X2 13-48 125  M16X2 55
APC18125 125 50 25 35 62  M16x2 13-46 125  M16X2 55
APC20160 160 60 30 41 79 M20x2.5 @ 1665 160  M20X2.5 69
APC22160 160 60 30 41 79 M20X2.5 | 1665 160 M20X2.5 69
#3X
e A B € D - E (8%) F G HGEd
GPC10100 100 30 15 415- 625 MI10X1.5 | 22-46 80 M10X15 39
GPC12125 125 40 20 51 - 77 MI12x1.75 2858 80 MI12x175 49
GPC14125 125 40 20 51 - 77 MI12x1.75 2856 100 M12X1.75 49
GPC16160 160 50 25 60.5- 925 M16X2 36-71 100 M16X2 55
GPC18160 160 50 25 60.5- 925 M16X2 36-69 125  M16X2 55
GPC20200 200 60 30 70 -118 M20x2.5 = 4392 125  M20X2.5 69
GPC22200 200 60 30 70 -118 M20x2.5 | 43-92 125 M20X2.5 69
(ErRON) AMEQD
ADJUST CLAMPS No.E-9446B
A E 70 B i ST AR ET
$45C #EX L BALE
mEH
PEL ne BEE (AF) £
941017 APC10S M10x1.5 52
941018 APC12S M12X1.75 96
941019 APC165 M16X2 180
941020 APC205 M20x%2.5 320

AIEER THCADHIE. HITEFEIMA.

W
ol

mHREED O

BT O

KT RFHMY



